

EQUIVALENT CONDITIONS FOR HARDY INEQUALITIES

DAULTI VERMA

ABSTRACT. A result is proved which gives the equivalence of five higher dimensional integral conditions. As a consequence, new characterizations for higher dimensional Hardy inequalities are obtained.

რეზიუმე. დადგენილია მრავალგანზომილებიანი ხუთი ინტეგრალური პირობის ექვივალენტობა. როგორც შედეგი, მიღებულია მრავალგანზომილებიანი პარდის უტოლობების ახალი დახასიათება.

1. INTRODUCTION

The celebrity Hardy inequality proved by G. H. Hardy in 1920 [4], in its modern form, reads as

$$\left(\int_a^b \left(\int_0^x f(t) dt \right)^q u(x) dx \right)^{\frac{1}{q}} \leq C \left(\int_a^b f^p(x) v(x) dx \right)^{\frac{1}{p}}, \quad (1.1)$$

where $-\infty \leq a < b \leq \infty$, $1 < p, q < \infty$, u, v are weight functions and f is a non-negative measurable function defined on (a, b) . In this paper, we are concerned with the case $p \leq q$. Many different conditions are available proved by different people at different times characterizing the inequality (1.1). In particular, we mention the names of Muckenhoupt [10], Kokilashvili [5], Persson and Stepanov [12], Wedestig [13]. Since all these conditions are characterizations of (1.1), they all are equivalent, however, via (1.1). The up to date development of Hardy inequality has been described in the monographs [6, 7, 9, 11].

In [2], Gogatishvili, Kufner, Persson and Wedestig proved a result which gives, as a special case, the equivalence of the conditions under discussion without involving the inequality (1.1). Precisely, the following was proved.

2000 *Mathematics Subject Classification.* 26D10.

Key words and phrases. Equivalent conditions, higher dimensional Hardy inequality, conjugate Hardy inequality.

Theorem A. For $-\infty \leq a < b \leq \infty$, α, β and s positive numbers and f, g measurable functions positive a.e. in (a, b) , let

$$F(x) := \int_x^b f(t)dt, \quad G(x) := \int_a^x g(t)dt$$

and

$$\begin{aligned} A_1(x; \alpha, \beta) &:= F^\alpha(x)G^\beta(x), \\ A_2(x; \alpha, \beta, s) &:= \left(\int_x^b f(t)G^{\frac{\beta-s}{\alpha}}(t)dt \right)^\alpha G^s(x), \\ A_3(x; \alpha, \beta, s) &:= \left(\int_a^x g(t)F^{\frac{\alpha-s}{\alpha}}(t)dt \right)^\beta F^s(x), \\ A_4(x; \alpha, \beta, s) &:= \left(\int_a^x f(t)G^{\frac{\beta+s}{\alpha}}(t)dt \right)^\alpha G^{-s}(x), \\ A_5(x; \alpha, \beta, s) &:= \left(\int_x^b g(t)F^{\frac{\alpha+s}{\alpha}}(t)dt \right)^\beta F^{-s}(x). \end{aligned}$$

The numbers $A_1 := \sup_{a < x < b} A_1(x; \alpha, \beta)$ and $A_i := \sup_{a < x < b} A_i(x; \alpha, \beta, s)$ ($i = 2, 3, 4, 5$) are mutually equivalent. The constants in the equivalence relations can depend on α, β and s .

The aim of this paper is to prove the higher dimensional analogue of Theorem A which would give, as a special case, the equivalent conditions characterizing the higher dimensional version of the inequality (1.1). Also, this theorem would yield the equivalent conditions for the higher dimensional version of the conjugate of (1.1).

By weight functions on $\mathbb{R}^n$, we shall mean positive locally integrable functions on $\mathbb{R}^n$. The symbol B_x denotes a ball in $\mathbb{R}^n$ with radius $|x|$, $x \in \mathbb{R}^n$ and centered at origin. By $\sum_{n-1}$, we shall denote the surface of B_1 , i.e., unit ball in $\mathbb{R}^n$. By $A \approx B$, we shall mean that A and B are equivalent, i.e., there exist constants c_1 and c_2 such that $A \leq c_1 B$ and $B \leq c_2 A$.

2. EQUIVALENCE RESULT

Our main result, giving equivalence of several quantities, is the following:

Theorem 1. Let α, β, s be positive real numbers and f, g be measurable functions positive a.e. in $\mathbb{R}^n$.

Denote

$$F(x) := \int_{\mathbb{R}^n \setminus B_x} f(y) dy, \quad G(x) = \int_{B_x} g(y) dy.$$

The following quantities are equivalent:

- (i) $\mathcal{B}_1 := \sup_{|x|>0} B_1(x; \alpha, \beta) := \sup_{|x|>0} F^\alpha(x) G^\beta(x),$
- (ii) $\mathcal{B}_2 := \sup_{|x|>0} B_2(x; \alpha, \beta, s) := \sup_{|x|>0} \left(\int_{\mathbb{R}^n \setminus B_x} f(t) G^{\frac{\beta-s}{\alpha}}(t) dt \right)^\alpha G^s(x),$
- (iii) $\mathcal{B}_3 := \sup_{|x|>0} B_3(x; \alpha, \beta, s) := \sup_{|x|>0} \left(\int_{B_x} g(t) F^{\frac{\alpha-s}{\beta}}(t) dt \right)^\beta F^s(x),$
- (iv) $\mathcal{B}_4 := \sup_{|x|>0} B_4(x; \alpha, \beta, s) := \sup_{|x|>0} \left(\int_{B_x} f(t) G^{\frac{\beta+s}{\alpha}}(t) dt \right)^\alpha G^{-s}(x),$
- (v) $\mathcal{B}_5 := \sup_{|x|>0} B_5(x; \alpha, \beta, s) := \sup_{|x|>0} \left(\int_{\mathbb{R}^n \setminus B_x} g(t) F^{\frac{\alpha+s}{\beta}}(t) dt \right)^\beta F^{-s}(x).$

Proof. We shall show that the quantity $\mathcal{B}_1$, is equivalent to $\mathcal{B}_i$, $i = 2, \dots, 5$.

$\mathcal{B}_1 \approx \mathcal{B}_2$

First consider the case when $s \leq \beta$.

As $\frac{\beta-s}{\alpha} \geq 0$ and therefore for $|z| > |x|$, we have

$$G^{\frac{\beta-s}{\alpha}}(z) \geq G^{\frac{\beta-s}{\alpha}}(x), \quad (2.1)$$

since G is increasing. Therefore

$$\begin{aligned} B_2(x; \alpha, \beta, s) &= \left(\int_{\mathbb{R}^n \setminus B_x} f(y) G^{\frac{\beta-s}{\alpha}}(y) dy \right)^\alpha G^s(x) \geq \\ &\geq \left(\int_{\mathbb{R}^n \setminus B_x} f(y) dy \right)^\alpha G^\beta(x) = F^\alpha(x) G^\beta(x), \end{aligned}$$

and so

$$\mathcal{B}_2 \geq \mathcal{B}_1. \quad (2.2)$$

On the other hand if we write

$$\begin{aligned} W(x) &= \int_{\mathbb{R}^n \setminus B_x} f(y) G^{\frac{\beta-s}{\alpha}}(y) dy = \\ &= \int_{|x|}^{\infty} \int_{\Sigma_{n-1}} t^{n-1} f(t\tau) \tilde{G}_n^{\frac{\beta-s}{\alpha}}(t) dt d\tau = \int_{|x|}^{\infty} \tilde{W}(t) dt = \tilde{W}_n(|x|) \end{aligned} \quad (2.3)$$

we have

$$\begin{aligned} G^s(x) W^\alpha(x) &= G^s(x) \left(\int_{\mathbb{R}^n \setminus B_x} f(y) G^{\frac{\beta-s}{\alpha}}(y) F^{\frac{\beta-s}{\beta}}(y) F^{\frac{s-\beta}{\beta}}(y) dy \right)^\alpha = \\ &= G^s(x) \left(\int_{|x|}^{\infty} \int_{\Sigma_{n-1}} t^{n-1} f(t\tau) \left(\int_0^t \int_{\Sigma_{n-1}} r^{n-1} g(r\rho) dr d\rho \right)^{\frac{\beta-s}{\alpha}} \times \right. \\ &\quad \left. \times \tilde{F}_n^{\frac{\beta-s}{\beta}}(t) \tilde{F}_n^{\frac{s-\beta}{\beta}}(t) dt d\tau \right)^\alpha = \\ &= G^s(x) \left(\int_{|x|}^{\infty} \int_{\Sigma_{n-1}} t^{n-1} f(t\tau) \tilde{G}_n^{\frac{\beta-s}{\alpha}}(t) \tilde{F}_n^{\frac{\beta-s}{\alpha}}(t) \tilde{F}_n^{\frac{s-\beta}{\beta}}(t) dt d\tau \right)^\alpha, \end{aligned}$$

where

$$\tilde{F}_n(t) = \int_t^{\infty} \int_{\Sigma_{n-1}} s^{n-1} f(s\tau) ds d\tau = \int_t^{\infty} \tilde{F}(s) ds \quad (2.4)$$

and

$$\tilde{G}_n(t) = \int_0^t \int_{\Sigma_{n-1}} r^{n-1} g(r\rho) dr d\rho = \int_0^t \tilde{G}(r) dr. \quad (2.5)$$

Thus, using (2.5) we have

$$\begin{aligned} G^s(x) W^\alpha(x) &\leq \left(\sup_{t>|x|} \tilde{G}_n^{\frac{\beta-s}{\alpha}}(t) \tilde{F}_n^{\frac{\beta-s}{\alpha}}(t) \right)^\alpha \times \\ &\quad \times G^s(x) \left(\int_{|x|}^{\infty} \tilde{F}(t) \left(\int_t^{\infty} \tilde{F}(y) dy \right)^{\frac{s-\beta}{\beta}} dt \right)^\alpha = \\ &= \left(\sup_{t>|x|} \tilde{G}_n^\beta(t) \tilde{F}_n^\alpha(t) \right)^{\frac{\beta-s}{\beta}} \left(\frac{\beta}{s} \right)^\alpha G^s(x) F^{\frac{\alpha s}{\beta}}(x) \leq \\ &\leq \left(\sup_{|y|>|x|} G^\beta(y) F^\alpha(y) \right)^{\frac{\beta-s}{\beta}} \left(\frac{\beta}{s} \right)^\alpha \left(\sup_{|x|>0} G^\beta(x) F^\alpha(x) \right)^{\frac{s}{\beta}} \leq \end{aligned}$$

$$\leq \left(\frac{\beta}{s}\right)^\alpha \sup_{|x|>0} B_1(x; \alpha, \beta),$$

which gives that

$$\mathcal{B}_2 \leq \left(\frac{\beta}{s}\right)^\alpha \mathcal{B}_1$$

and combining with (2.2) yields that $\mathcal{B}_1 \approx \mathcal{B}_2$ in the case $s \leq \beta$.

Next, we consider the case when $s > \beta$. Using W from above and (2.3), we consider ,

$$\begin{aligned} F^\alpha(x)G^\beta(x) &= G^\beta(x) \left(\int_{\mathbb{R}^n \setminus B_x} f(y) G^{\frac{\beta-s}{\alpha}}(y) G^{\frac{s-\beta}{\alpha}}(y) W^{\frac{s-\beta}{\alpha}}(y) W^{\frac{\beta-s}{\alpha}}(y) dy \right)^\alpha = \\ &= G^\beta(x) \left(\int_{|x| \leq \sum_{n-1}}^\infty t^{n-1} f(t\tau) \tilde{G}_n^{\frac{\beta-s}{\alpha}}(t) \tilde{G}_n^{\frac{s-\beta}{\alpha}}(t) \tilde{W}_n^{\frac{s-\beta}{s}}(t) \tilde{W}_n^{\frac{\beta-s}{s}}(t) dt d\tau \right)^\alpha \leq \\ &\leq \left(\sup_{t>|x|} \tilde{G}_n^{s-\beta}(t) \tilde{W}_n^{\frac{(s-\beta)\alpha}{s}}(t) \right) G^\beta(x) \left\{ \int_{|x|}^\infty \tilde{W}(t) \left(\int_t^\infty \tilde{W}(s) ds \right)^{\frac{\beta-s}{s}} dt \right\}^\alpha = \\ &= \left(\sup_{|y|>|x|} G^s(y) W^\alpha(y) \right)^{\frac{s-\beta}{s}} \left(\frac{s}{\beta} \right)^\alpha G^\beta(x) W^{\frac{\beta\alpha}{s}}(x) \leq \\ &\leq \left(\frac{s}{\beta} \right)^\alpha \left(\sup_{|y|>|x|} G^s(y) W^\alpha(y) \right)^{1-\frac{\beta}{s}} \left(\sup_{|x|>0} G^s(x) W^\alpha(x) \right)^{\frac{\beta}{s}} \leq \\ &\leq \left(\frac{s}{\beta} \right)^\alpha \left(\sup_{|x|>0} B_2(x; \alpha, \beta, s) \right), \end{aligned}$$

which gives that

$$\mathcal{B}_1 \leq \left(\frac{s}{\beta}\right)^\alpha \mathcal{B}_2. \quad (2.6)$$

On the other hand, since $s > \beta$. The inequality (2.1) holds in the reverse direction and therefore

$$\begin{aligned} B_2(x; \alpha, \beta, s) &= G^s(x) \left(\int_{\mathbb{R}^n \setminus B_x} f(y) G^{\frac{\beta-s}{\alpha}}(y) dy \right)^\alpha \leq \\ &\leq G^s(x) \left(\int_{\mathbb{R}^n \setminus B_x} f(y) dy \right)^\alpha G^{\beta-s}(x) = F^\alpha(x) G^\beta(x) \end{aligned}$$

i.e.,

$$\mathcal{B}_2 \leq \mathcal{B}_1$$

which when combined with (2.6), yields that $\mathcal{B}_1 \approx \mathcal{B}_2$ in the case $s > \beta$ too. Thus the equivalence of $\mathcal{B}_1$ and $\mathcal{B}_2$ is proved completely.

$\mathcal{B}_1 \approx \mathcal{B}_3$

It follows similarly as the case of $\mathcal{B}_1 \approx \mathcal{B}_2$. One needs to change the roles of F and G .

$\mathcal{B}_1 \approx \mathcal{B}_4$

Let

$$\begin{aligned} W_0(x) &= \int_{B_x} f(y) G^{\frac{\beta+s}{\alpha}}(y) dy = \\ &= \int_0^{|x|} \int_{\Sigma_{n-1}} t^{n-1} f(t\tau) G^{\frac{\beta+s}{\alpha}}(t\tau) dt d\tau = \int_0^{|x|} \tilde{W}_0(t) dt, \end{aligned} \quad (2.7)$$

where

$$\begin{aligned} \tilde{W}_0(t) &= \int_{\Sigma_{n-1}} t^{n-1} f(t\tau) G^{\frac{\beta+s}{\alpha}}(t\tau) d\tau, \\ B_4(x; \alpha, \beta, s) &= G^{-s}(x) W_0^\alpha(x), \end{aligned}$$

and, using (2.5) and (2.7), we have

$$\begin{aligned} B_1(x; \alpha, \beta) &= G^\beta(x) \left(\int_{\mathbb{R}^n \setminus B_x} f(x) G^{\frac{\beta+s}{\alpha}}(x) G^{-\frac{\beta+s}{\alpha}}(x) dx \right)^\alpha = \\ &= G^\beta(x) \left(\int_0^\infty \int_{|x| \Sigma_{n-1}} t^{n-1} f(t\tau) G^{\frac{\beta+s}{\alpha}}(t\tau) G^{-(\frac{\beta+s}{\alpha})}(t\tau) dt d\tau \right)^\alpha = \\ &= G^\beta(x) \left(\int_{|x|}^\infty \tilde{G}_n^{-(\frac{\beta+s}{\alpha})}(t) d \left(\int_0^t \tilde{W}_0(s) ds \right) dt \right)^\alpha \leq \\ &\leq G^\beta(x) \left(\tilde{G}_n^{-(\frac{\beta+s}{\alpha})}(\infty) W_0(\infty) + \frac{\beta+s}{\alpha} \times \right. \\ &\quad \left. \times \int_{|x|}^\infty \tilde{G}(t) (\tilde{G}_n(t))^{-(\frac{\beta+s}{\alpha})-1} W_0(t) dt \right)^\alpha \leq \\ &\leq G^\beta(x) \sup_{|y| > |x|} G^{-s}(y) W_0^\alpha(y) \left(\tilde{G}_n^{-\frac{\beta}{\alpha}}(\infty) + \frac{\beta+s}{\alpha} \times \right. \end{aligned}$$

$$\begin{aligned}
& \times \int_{|x|}^{\infty} \tilde{G}_n^{-\frac{\beta}{\alpha}-1}(t) d\left(\int_0^t \tilde{G}(s) ds\right) dt \Big)^{\alpha} \leq \\
& \leq G^{\beta}(x) \sup_{|y|>0} B_4(y; \alpha, \beta, s) \times \\
& \quad \times \left(\tilde{G}_n^{-\frac{\beta}{\alpha}}(\infty) + \frac{\beta+s}{\alpha} (\tilde{G}_n^{-\frac{\beta}{\alpha}}(|x|) - \tilde{G}_n^{-\frac{\beta}{\alpha}}(\infty)) \right)^{\alpha} = \\
& = \sup_{|y|>0} B_4(y; \alpha, \beta, s) \left[\frac{\beta+s}{\alpha} + \left(1 - \frac{\beta+s}{\alpha}\right) \left(\frac{G(x)}{G(\infty)}\right)^{\frac{\beta}{\alpha}} \right]^{\alpha} \leq \\
& \leq \left(1 + \frac{s}{\beta}\right)^{\alpha} \sup_{|y|>0} B_4(y; \alpha, \beta, s).
\end{aligned}$$

Thus

$$\sup_{|x|>0} B_1(x; \alpha, \beta) \leq \left(1 + \frac{s}{\beta}\right)^{\alpha} \sup_{|x|>0} B_4(x; \alpha, \beta, s).$$

To prove the opposite inequality, we assume that

$$\begin{aligned}
& \sup_{|x|>0} B_1(x; \alpha, \beta, s) < \infty, \\
& B_4(x; \alpha, \beta, s) = G^{-s}(x) \left(\int_{B_x} G^{\frac{\beta+s}{\alpha}}(x) f(x) dx \right)^{\alpha} = \\
& = G^{-s}(x) \left(\int_0^{|x|} \tilde{G}_n^{\frac{\beta+s}{\alpha}}(t) d\left(-\int_t^{\infty} \tilde{F}(s) ds\right) dt \right)^{\alpha} = \\
& = G^{-s}(x) \left(\tilde{G}_n^{\frac{\beta+s}{\alpha}}(t) \tilde{F}_n(t) \Big|_0^{|x|} + \frac{\beta+s}{\alpha} \times \right. \\
& \quad \times \int_0^{|x|} \tilde{F}_n(t) \tilde{G}_n^{\frac{\beta+s}{\alpha}-1}(t) d\left(\int_0^t \tilde{G}(r) dr\right) dt \Big)^{\alpha} \leq \\
& \leq G^{-s}(x) \left(\sup_{0 < t < |x|} \tilde{G}_n^{\beta}(t) \tilde{F}_n^{\alpha}(t) \right) \times \\
& \quad \times \left(\frac{\beta+s}{\alpha} \int_0^{|x|} \tilde{G}_n^{\frac{s}{\alpha}-1}(t) d\left(\int_0^t \tilde{G}(r) dr\right) dt \right)^{\alpha} \leq \\
& \leq \left(\frac{\beta+s}{\alpha} \right)^{\alpha} \sup_{|y|>0} G^{\beta}(y) F^{\alpha}(y) G^{-s}(x) \left(\frac{\alpha}{s} G^{\frac{s}{\alpha}}(x) \right)^{\alpha} =
\end{aligned}$$

$$= \left(\frac{\beta + s}{\alpha} \right)^\alpha \sup_{|x|>0} B_1(x; \alpha, \beta).$$

Hence, we have

$$\sup_{|x|>0} B_4(x; \alpha, \beta, s) \leq \left(1 + \frac{s}{\beta} \right)^\alpha \sup_{|x|>0} B_1(x; \alpha, \beta).$$

It follows

$$\mathcal{B}_1 \approx \mathcal{B}_4.$$

$$\mathcal{B}_1 \approx \mathcal{B}_5$$

It follows similarly as the case of $\mathcal{B}_1 \approx \mathcal{B}_4$. One needs to change the roles of F and G . $\square$

3. EQUIVALENCE CONDITIONS OF HARDY INEQUALITIES

In this section, first we give several conditions all are necessary and sufficient for the higher dimensional Hardy inequality.

Theorem 2. *Let $1 < p \leq q < \infty$, $s \in (0, \infty)$ and u, v be weight functions defined on $\mathbb{R}^n$. Let*

$$U(x) = \int_{\mathbb{R}^n \setminus B_x} u(y) dy \quad \text{and} \quad V(x) = \int_{B_x} v^{1-p'}(y) dy.$$

Then the inequality

$$\left(\int_{\mathbb{R}^n} \left(\int_{B_x} f(y) dy \right)^q u(x) dx \right)^{\frac{1}{q}} \leq C \left\{ \int_{\mathbb{R}^n} f^p(x) v(x) dx \right\}^{\frac{1}{p}} \quad (3.1)$$

holds for all non-negative measurable functions f if and only if any one of the following equivalent conditions holds

- (i) $\mathcal{D}_1 := \sup_{|x|>0} \left\{ U^{\frac{1}{q}}(x) V^{\frac{1}{p'}}(x) \right\} < \infty,$
- (ii) $\mathcal{D}_2 := \sup_{|x|>0} \left(\int_{\mathbb{R}^n \setminus B_x} u(t) V^{q(\frac{1}{p'}-s)}(t) dt \right)^{\frac{1}{q}} V^s(x) < \infty,$
- (iii) $\mathcal{D}_3 := \sup_{|x|>0} \left(\int_{B_x} u(t) V^{q(\frac{1}{p'}+s)}(t) dt \right)^{\frac{1}{q}} V^{-s}(x) < \infty,$
- (iv) $\mathcal{D}_4 := \sup_{|x|>0} \left(\int_{B_x} v^{1-p'}(t) U^{p'(\frac{1}{q}-s)}(t) dt \right)^{\frac{1}{p'}} U^s(x) < \infty,$

$$(v) \quad \mathcal{D}_5 := \sup_{|x|>0} \left(\int_{\mathbb{R}^n \setminus B_x} v^{1-p'}(t) U^{p'(\frac{1}{q}+s)}(t) dt \right)^{\frac{1}{p'}} U^{-s}(x) < \infty.$$

Proof. In Theorem 1, if we take $f(x) = u(x)$, $g(x) = v^{1-p'}(x)$, $\alpha = \frac{1}{q}$, $\beta = \frac{1}{p'}$, then we find that

$$\mathcal{D}_1 \approx \mathcal{D}_2 \approx \mathcal{D}_3 \approx \mathcal{D}_4 \approx \mathcal{D}_5.$$

But it is known, see [1] that $\sup \mathcal{D}_1 < \infty$ is a necessary and sufficient condition for the inequality (3.1) to hold. Hence the assertion follows. $\square$

Now, we give several equivalent conditions corresponding to the higher dimensional conjugate Hardy operator.

Theorem 3. Let $1 < p \leq q < \infty$, $s \in (0, \infty)$ and u, v be weight functions on $\mathbb{R}^n$. Let

$$U(x) = \int_{B_x} u(y) dy \quad \text{and} \quad V(x) = \int_{\mathbb{R}^n \setminus B_x} v^{1-p'}(y) dy.$$

Then the inequality

$$\left\{ \int_{\mathbb{R}^n} \left(\int_{\mathbb{R}^n \setminus B_x} f(y) dy \right)^q u(x) dx \right\}^{\frac{1}{q}} \leq C \left\{ \int_{\mathbb{R}^n} f^p(x) v(x) dx \right\}^{\frac{1}{p}} \quad (3.2)$$

holds for all non-negative measurable functions f if and only if any one of the following equivalent conditions holds

$$\begin{aligned} (i) \quad \mathcal{D}_1^* &:= \sup_{|x|>0} \left\{ U^{\frac{1}{q}}(t) V^{\frac{1}{p'}}(t) \right\} < \infty \\ (ii) \quad \mathcal{D}_2^* &:= \sup_{|x|>0} \left\{ \int_{B_x} u(t) V^{q(\frac{1}{p'}-s)}(t) dt \right\}^{\frac{1}{q}} V^s(x) < \infty \\ (iii) \quad \mathcal{D}_3^* &:= \sup_{|x|>0} \left(\int_{\mathbb{R}^n \setminus B_x} u(t) V^{q(\frac{1}{p'}+s)}(t) dt \right)^{\frac{1}{q}} V^{-s}(x) < \infty \\ (iv) \quad \mathcal{D}_4^* &:= \sup_{|x|>0} \left\{ \int_{\mathbb{R}^n \setminus B_x} v^{1-p'}(t) U^{p'(\frac{1}{q}-s)}(t) dt \right\}^{\frac{1}{p'}} U^s(x) < \infty \\ (v) \quad \mathcal{D}_5^* &:= \sup_{|x|>0} \left\{ \int_{B_x} v^{1-p'}(t) U^{p'(\frac{1}{q}+s)}(t) dt \right\}^{\frac{1}{p'}-s} U^{-s}(x) < \infty \end{aligned}$$

Proof. In Theorem 1, if we take $f(x) = v^{1-p'}(x)$, $g(x) = u(x)$, $\alpha = \frac{1}{p'}$, $\beta = \frac{1}{q}$, we find that

$$\mathcal{D}_1^* \approx \mathcal{D}_2^* \approx \mathcal{D}_3^* \approx \mathcal{D}_4^* \approx \mathcal{D}_5^*.$$

But it is known, see [1] that $\sup \mathcal{D}_1^* < \infty$ is a necessary and sufficient condition for the inequality (3.2) to hold. Hence the assertion follows. $\square$

ACKNOWLEDGEMENT

I am grateful to my supervisor Dr. Pankaj Jain for his valuable suggestions and help in writing this paper.

REFERENCES

1. P. Drábek, H. P. Heinig and A. Kufner, Higher-dimensional Hardy inequality. General inequalities. **7**(19095) (Oberwolfach), 3–16, *Internat. Ser. Numer. Math.* **123**(1997), Birkhauser, Basel.
2. A. Gogatishvili, A. Kufner, L. E. Persson and A. Wedestig, An equivalence theorem for integral conditions related to Hardy's inequality. *Real Anal. Exchange* **29**(2003/04), No. 2, 867–880.
3. B. Gupta, P. Jain, L. E. Persson and A. Wedestig, Weighted geometric mean inequalities over cones in $\mathbb{R}^N$. *JIPAM. J. Inequal. Pure Appl. Math.* **4**(2003), No. 4, Article 68.
4. G. H. Hardy, Note on a theorem of Hilbert. *Math. Z.* **6**(1920), No. 3–4, 314–317.
5. V. M. Kokilashvili, On Hardy's inequalities in weighted spaces. (Russian) *Soobshch. Akad. Nauk Gruz. SSR* **96**(1979), No. 1, 37–40.
6. A. Kufner, L. Maligranda and L. E. Persson, The Hardy inequality. About its history and some related results. *Vydavatelsky Servis, Plzen*, 2007.
7. A. Kufner and L. E. Persson, Weighted inequalities of Hardy type. *World Scientific Publishing Co., Inc., River Edge, NJ*, 2003.
8. A. Kufner, L. E. Persson and A. Wedestig, A study of some constants characterizing the weighted Hardy inequality. *Proceedings of the Wadyslaw Orlica Centenary Conference and Function Spaces VII.* (to appear)
9. V. Maz'ya, Sobolev spaces. *Springer Series in Soviet Mathematics. Springer-Verlag, Berlin*, 1985.
10. B. Mukenhoupt, Hardy's inequality with weights. *Studia Math.* **44**(1972), 31–38.
11. B. Opic and A. Kufner, Hardy-type inequalities. *Pitman Research Notes in Mathematics Series*, 219, *Longman Scientific & Technical, Harlow*, 1990.
12. L. E. Persson and V. D. Stepanov, Weighted integral inequalities with the geometric mean operator. *J. Inequal. Appl.* **7**(2002), No. 5, 727–746.
13. A. Wedestig, Weighted inequalities of Hardy type and their limiting inequalities. *Doctoral thesis*, 2003.

(Received 20.02.2008)

Author's address:

Department of Mathematics, University of Delhi
Delhi 110 007, India